A & 0l & A

20128 =34 2 3| JIEtSEH & ™ (&)

2Ok 22 - IBAY - SRAAH (S H) Ol &k o J &3 oA HwE2 =28
S Al 49,270,796 44,578,875 4,691,921 10.52%
ALY 48,161,624 43,792,778 4,368,846 9.98%
HWegs 492,337 170,946 321,391 188.01%
HE2HZH 616,835 615,151 1,684 0.27%
BEES 14,435,483 12,796,772 1,638,711 12.81%
oot - =2 11,547,105 9,943,394 1,603,711 16.13%
=EHEH 11,265,553 9,943,394 1,322,159 13.30%
St (=EMEELE3A) 4,411,811 3,762,538 649,273 17.26%
AL (SEMEELSIH) 675,001 675,001 0 0.00%
St=ELHelAd XA (=EHEESESH) 2,140,000 2,140,000 0 0.00%
AfAEs Y 2 (=EMEELSIAH) 165,019 156,703 AN 1,684 A1.07%
Hegde (4T AMdSESIH) 3,883,722 3,209, 152 674,570 21.02%
Hegs(ed4n) 1,500 0 1,500 100.00%
SBENE (4T AL ELSA) 1,500 0 1,500 100.00%
Hees(ed4mn) 280,052 0 280,052 100.00%
SBENE(=EHNLEEESH) 280,052 0 280,062 100.00%
HOI= 2,888,378 2,853,378 35,000 1.23%
HolS fIdEe Xel 2,888,378 2,853,378 35,000 1.23%
EMHS> L Bl (EMNLASESA) 2,888,378 2,853,378 35,000 1.23%
ALl = Xl 334,707 293,568 41,139 14.01%
ISR Ry 290, 868 289,568 1,300 0.45%
MASES g2y X2 290,868 289,568 1,300 0.45%
=30 (AzESSE3H) 290, 868 289,568 1,300 0.45%
FAHSXE 43,839 4,000 39,839 995.97%
Hegs(=olden) 43,839 4,000 39,839 995.97%
EESSYEIHEENE(AEESSESH) 43,839 4,000 39,839 995.97%
SEofl 2=t 29,072,479 26,201,653 2,870,826 10.96%
sg-s& 29,072,479 26,201,653 2,870,826 10.96%
SYALSHTA =4 4,014,287 2,200,549 1,813,738 82.42%
SEALASMY FU(SHEASHLIIZELS 4,014,287 2,200,549 1,813,738 82.42%

A

o @353 5,259,259 4,202,171 1,057,088 25.16%
Zrdesdacl (2 HEBANESLINH) 5,259,259 4,202,171 1,067,088 25.16%
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